Autumn Test 3

Name: Class Date

1]2x =14 2 | 264 +50 = a

3 +24 = 47 4 | 5x25= D

S | 734+ 154 = 6 + 725 = 942 D

7 | 32- =4 8 =12X7 D
2 _ _

9 £ of 15= 10 | 35 x8= D

1M | 12x =12 12 | 276,455 + 10,000 = D

13 | 25 X3 %X 4= 194 | 5435 + 7437 = D
12 _ 6 _ )

L 16 | 2 D
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Autumn Test 3 (continued)

127 | 6 x40 = D 18 | 763,624 + 6473 = D

19 | 5.25 X 1000 = D 20 = 236,748 + 17,484 D

21 | 3894 x 8= D 22 | 5502+ 6 = D
1 — -

23 & X7 D 24 | 8524 + 6.547 D
25 = 56— 257 D 26 % v % - D
4|55 81219

27 28
X 2|3 X 513
(2 marks) (2 marks)
( Total marks / 30)
How well did you do? " 2 3| 5] 61214 ] 18[20] 22 24| 26
Colour the numbers of the s
questions you got correct. -
% 11 4] 810 n|w31w6|1w7|19]21]|23]|27] 28
. 7| 22
Fractions 9 15231 26
Decimals 1912425
Missing 1 3 6 71 N
Arithmetic Practice Tests Set B Year 5 © Rising Stars UK Ltd 2017

19



